T&T7 3.6 Related rates of change October 20, 2014

12. A pump is inflating a spherical balloon.
The radius of the balloon is increasing at a rate of 1 cm/sec when the length of
the radius is 2 metres.

Find the rate at which the pump is working (i.e. the rate of change of the volume).
If the air continues to be pumped at this rate, find the rate of change of the radius
when it is 5 metres in length.

(iii) At what rate is the surface area of the balloon increasing when r = Sm?
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13. A 10m ladder leans against a vertical wall.
The top of the ladder is at a height of 8m up the wall

and is slipping down the wall at a rate oq lm/sec.’ i

At what rate is the foot of the ladder sliding along

the ground when the top of the ladder is Sm up the wall? Sm y
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